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(1) p stringl * 10 (5) p string2.to_i
(2) p string2 * 3 (6) p stringl.chomp
(3) p string3 * 2 (7) p string2.chomp
(4) p stringl.to_i (8) p string3.chomp
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fukkin = kaidan = ude = 0
open("exercise.csv", "r") do |ex|
while line = [ 7 ].gets
if /\d+-\d+-\d+,[ 1 1/ =" line then
if $1 == "JEf" then
[ V]
elsif $1 == "FEELAFE" then
[ T ]
elsif $1 == [ 4 1 then
[ 7]

[ ¥ ]
end
end
printf ("JEAIE%d B, BB A BEISYA B, BSZ TRE
%dETLZ\n", [ 7 1)

end
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print ("X FHNE AT (TINVT 7Y NO/INFEDHA) \n")
plain = gets.chomp!

print ("WES{LF —2 A")
key = gets.chomp!.to_1i

#(4)
#(4)

i=0
while i < [ 7 ]
code = plain[i].ord
code += key
if code > ?z.ord # z DXFI—RKR%H{5

code -= [ 1 1]
end
printf("%c", [ 7 1)
i+=1
end
print"\n"
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